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NO. 11 20. 000 37.5 31. 65 633. 0 0.0 0. 65 13.0 0.0 0. 10 2.0
NO. 12 20. 000 46. 8 42. 15 843. 0 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 13 20. 000 23.0 34. 90 698. 0 0.0 0. 00 0.0 0.0 0. 00 0.0
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NO. 6 20. 000 0.9 0.75 15.0 0.4 0. 35 7.0
NO. 6 + 10.000] 10.000 1.6 1.25 12.5 0.7 0.55 5.5
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4 - 10
25 Ve L
HoOH Bl LR =V ¥ &=
TR ﬁ%gg;%j: A=2.10X8.50+1.60X1. 30 =[ 19.9 p?
Stk ) -) 18 N/mm2 V= (2.10X8.50+1.60X1.30) X0. 10 = 1.99 p’
AR P A= (2.10+1.60+ (8. 50+1. 30+0. 25) X2) X0. =| 2.4
XA 7Y = b 24 N/mm2
JECHfR V= (1.90X8.30+1.40X 1. 30) X0. 25 =l 4.40
ATV S | V= (0.22X0.88X1.4) /2 = 0.14
THimmaEE | v= (1.9X1.95-1. 0X 1. 73) X0. 25 =l 0.49
fHIIEE 1 V=10.88X% (1. 7341. 95) /2 0. 25X 2 =l 0.81
fHIEE2 V= (6.92X1.95) X0.25X2 =[  6.75
A EsmEE | V= (0.2540. 25) X1.95X0. 25X 2 =l 0.49
LU EIEE | V= (1. 05X (1.95+2. 17) /2) X0.25X2 = 1.08
AN | V= (1.30X1.27) /2X0. 90 = 0.74
b EREEE | V= (1.40X2.17—0.90X0. 90) X0. 25 =  0.56
A5t =] 15.46 w’
AR
JEChR V= (1.90+1.40+ (8. 30+ 1. 30+0. 25) X 2) X0.25 = 5.75
ATV AF | V= 1.90+0. 25X 2+ (0. 88+0. 22) /2 X 2 =l 3.50
TURE LS, | V=1.9X1.95-1.0X 1. 73 =l 1.98
TURHERHEEEAN | V=0.20X1.73X2 = 0.69
fRIIEE 1 V=10.88X (1.73+1.95)/2X2X2 =|  6.48
fRIIEE2 V= (6.92X1.95) X2X2 =[ 53.98
AViEmeE | V= (0. 2540, 25X2) X1.95X2 = 2.93
ATEMAEE | V= (1. 05X (1.9542.17) /2) X2X2 =| 8.65
BV ARHEERR | V= (1. 30X 1.27) /2 X -2 =| A\ 1.65
LUEENE | V= 1.817X0. 90 =l  1.64
Ry ERE | V= 1.40X2.17—0.90X0.90+0.25%2.17x2 =  3.31
AEb 5| 87.26 n’
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IH H O i H K W &=
ERAHALNLIN T SD295A D13 | W= ZF25¥% 7= THAGIX (2/2) L 0 0.010 t
SD295A D16 | W= 253 7= LRdAHIX (2/2) £ 1 0.740 t
74— IR VU ¢ 75 [=0.25X8X2 4.0 m
TR
wt Upsiest | )7 PE VR L as 030 %0. 30 X8 X2 1.4 o
t=1. bmm
7 4 IVH—K C-80 V=10.30X%0.30X7.30X2 .3
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35 e L
HoOH Bl i " K ¥ &=
TR ﬁ%gﬁ;%j‘ A=2.10X7.60+1.60X1. 30 =[ 18.0 p?
HeffEay ) - 18 N/mm2 V= (2.10X7.60+1. 60X 1. 30) X0. 10 = 1.80 n’
FL R A= (2.104+1. 60+ (7. 60+ 1. 30+0. 25) X2) X0.10 = 2.2
XA 7Y —b 24 N/mm2
JECHfR V= (1.90X7.40+1.40X 1. 30) X0. 25 =l 3.97
ATV AF | V= (0.15X0.6X1.4) /2 =l 0.06
TyREmERE | V= (1.9X1.8—0.9%X1.65) XO0.25 =l 0.48
fHIIEE 1 V= 0. 60X (1.65+1.80)/2X0. 25X 2 =l 0.52
fRIEE2 V= (6. 30X 1.80) X0.25X2 = 5.67
A EsmEE | V= (0.254+0. 25) X 1.80X0. 25X 2 =l  0.45
LU EIEE | V= (1. 05X (1.80+2. 10) /2) X0.25X2 = 1.02
AT AN | V= (1.30X 1. 20) /2X0. 90 = 0.70
b EsEEE | V= (1.40X2.10—0. 90X 0. 90) X0. 25 = 0.53
AFF = 13.40 W
AR A
JEChR V= (1.90+1.40+ (7. 40+ 1. 30+0. 25) X 2) X0.25 = 5.30
ATV AF | V=1.80%0.25x2+ (0.1540.60) /2X2 = 1.65
TURE LS, | V=1.9X1.8—0.9X 1. 65 = 1.94
TUTHERHEIEEAN | V=0.25X1.65X2 = 0.83
fRIIEE 1 V=10.60X (1.65+1. 80) /2X2X2 =l  4.14
fRIIEE2 V= (6.30X1.80) X2X2 =[ 45.36
AviimmeE | V= (0. 2540, 25X2) X1.80X2 = 2.70
AT mEE | V= (105X (1. 80+2. 10) /2) X2X2 = 8.19
BV ARNEEPERR | V= (1. 30X 1.20) /2 X -2 =| A\ 1.56
LUEENE | V= 1. 769X0. 90 = 1.59
by ERE | V= 1.40X2.10—0.90X0.90+0.25X2.10X2 =|  3.18
ARt = 73.32
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3k L
IH H O i H K o=
BRABALNT N T SD295A D13 | W= 35V 7= LEAGX (2/2) L 0 0.439 t
74— IR VU ¢ 75 [=0.25X7X2 3.5 m
TR
wt Upsiest | )7 PE VR L as 030 %0, 30X 7 X2 1.3 o
t=1. bmm
7 4 IVH—K C-80 V=0.30X0.30X6.30X2 .1
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BETER VTP e (6150 ) BV CIEE  (mb0)

Rt LRBALE#
f972°08 byZR t=1. 5mm

380

= ELN VP ELE
400 v VE) ¢ 150
7 14 )L32—#4 (C-80)

H H Bk i B K ¥ &=
EEER Vol AL ¢ 150 L= 10 =[ 10,0 m
7 4 VE—kf C-80 V= (0.40X0.38-0. 18°2X 3. 14/4) X10.0 = 1.3
TR :
W UBGIERS & )7 v VR V= (0.4040.38) X2X10.0 =| 15.6 p?

t=1. bmm
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BIREM L A s etk

&l Ml PSS Bl % & fi§ =
B LAl T = 1.
SEAB (A Fyva72y2H1200 (MfE5H) | m 294.
"5 (i BH) H1200 X W4000 (it | 1.
EE+T = 1.
PR3 /NS m’ 168.

TS i wRIAs m’ -7.5 | LTIz 4EE
HRAE L (i 1) W<1m m’ 158.




Fi ¥ £ K& O A K o=
[ 1AL

NEIR Ay¥a72Y AH1200 (iFER)

No—0~3 b= 533 + 154 m

No—3-7 = 1422 + 800 m

No. 7~13+9. 682 L= 140.4 + 154.1 294.5 m
294.5 m

FH B¢ (FE BH) H1200 X W4000 (ffif=E71)

No—0~3 N= 19 pre

No-—3~7 N~ 26 He

No. 7~13+9. 682 N= 1.0 1.0 X
1.0 &

(=N

PR FINFRAEL

NI s HACMR MR

No—0~3 = 0.0 X 5640 = 1000 m3

No—7~13+9682 V= 00 X 560 = 1000 m3

No. 7~13+9. 682 = 294.5 X 56.0 <+ 100.0 164.9 m3

FHBE ([M5H)

No—0~3 = 00 X 32 = 190 m3

No—3~7 = 006 X 32 = 190 m3

No. 7~13+9. 682 = 1.0 X 3.2 =+ 1.0 3.2 m3
168.1 m3

- HhAE E R % it

No—0~-3 = 66 = 66 = 69 m3

No—3~7 = 696 = 66 = 09 m3

No. 7~13+9. 682 = 168.1 - 158.0 = 0.9 -7.5 m3
-7.5 m3

HEL A1) W<1m

N BA A BN HOR: RYERR

No—0~3 = 006 X 527 = 1000 m3

No—3~7 V= 00 X 527 = 1000 m3

No. 7~13+9. 682 = 294.5 X 52.7 -+ 100.0 155.2 m3

FH B¢ (0 BH)

No—0~3 = 106 X 28 = 190 m3

No—3~7 = 206 X 28 = 196 m3

No. 7~13+9. 682 = 1.0 X 2.8 + 1.0 2.8 m3
158.0 m3
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Lk Yed ]
‘ ‘ 00 NN\ 2oy y—k (18-8-40)
. 500 300 500 400 BEISYI =5
R ARAEAOMMEL T
H H WO i H K &=
AyyaT xR H1200 (it E %) L=2.0X50 100.0 m
a7 —h 18 N/mm2 V=0.30"2X0.55X51 2.5
AU /NI YE ) A= 0.30X0.55xX4X51 34 m°
Ty =R S PY5-3 R
Hops b iﬂ*ig TR - 0 40" 2 %51 8.2
mm t=10cm
E¥+T
PRAED V=1.30"2X0. 65X51 56.0 mn’
ML V= 56.0-(0. 40"2X0. 10+0. 30" 2X 0. 55) X 51 52.7 n’
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500 ‘ 50 ‘ 500 1300 *1200 Q450 r?()u{%%mmlol'lc
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H H % i H O M &=
A () %1)§éo>o><vv4ooo(rrﬁ N= 1% 10 _ 0.0 £
a7U—h 18 N/mm2 V= (0.4572X0.60X2+0. 30X0.20X0.20) X10 = 2.6 m
. .45X0. 60 X4 X2+(0. 30+0. X0.20X .
e JNELHE 1 _ (0. 45X 0. 60X 4 X 2+(0. 30+0. 20) X 0. 20 _ 94 o2
2) X 10
R S R ;
bk — —
FERERT A0mm t=10cm A= 0.55X0.55X2X10 = 6 m
fE¥(1T (13%D)
ALY V=1.45"2X0.70X2+1. 30X 1.20X0. 20 = 3.2
_ .2-(0. 5572 X0. . 4572 X0. X 2
L ~3.2-(0.5572X0. 10+0. 45°2X0.60) X2 _ 9.8 o

~0.30X0.20x0. 20
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(kT B etk

o L HAZ| % & fi§ =
T AR T E2V 1.0
kR 1524 X 6096 X 22 m” 408.8 [444%
BB (E1E) t 70. 6
oK T 20 1.0
BN ) oFuE | ¢300 m 44. 0
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No. 7~13+9. 682

AR (FE18)
e T e
R e I S S
e e e
s e o

. T~13+9. 682

1524 X 6096 X 22

[=129. 3/6. 1 =224%
X 6.09 X 22.0 X 2

1524 X 6096 X 22 (W=1.604 t)

[=129. 3/6. 1=22#¢
1.604 X 2

¢ 300

I
all

m2

m2

m2

m2

44.0 m
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HEIEDE T FEER R

FE Rl Ll O BN ¥ & i 2
TR ALEE T = 1.0
2/ ) - ko $kip= 7 U — kK m3 7.3
1/ ) )= bR ALy $kfip= 7 U — K t 18.3




A r X &k 0 " K B &
HE IR L L
- AV -MEE TUE L RIS
o B&E (ke)  m(fE) (kg)
LA BEREH2000 V= 8.0 X 1835 + 2.00 <+ 2500 = 2.9
ta—hAE ¢ 600 V= 29.5 X 660 = 2.43 + 2500 = 3.2
BE300 ¥= 66 X 136 = 200 = 2600 =
U450 V= 0.0 X 454 = 2,00 <+ 2500 = 0.4
HEACHE1000¢ 1000 Y= 6.0 X 1250 = 2,00 = 2500 =
b e
b oo L ¥= 39 X 13 X 616 = 0.8
EEF = 7.3 m
7 VR AMERE S T
- |77 VR ANBERE R 25
H2000 L= #66 + 8.0 = 8.0 m
Pk E D L
- |- MEHE
¢ 600 L= 29.5 = 29.5 m
bt L= 177 = m
U450 = 40 = m
PEAGH£1000<1000 = 39 = m
000 N= 39 = 05 = B
LB T
3V = M E
V)Y =ML Gy
m (t/m3)
W= 7.3 X 2.50 = 18.3 t




§8. FRIRL




(AR T. B dEdt =

& B AR WK HAL| % & i B
RRBRIR T Y 1.0
AR, BRIR, £
FE, JE m2 3433.0
ERARBA AL 5y t 400. 2

FEHMEI m 57.2




i B X & v H K o =
RARBRIR T

ROR, BRIR, ERE. EHK
No—0=-3
A= 2.946 = m2
No—3=~7
A= 2.627 = m2
No. 7~13+9. 682
A= 3,433 = 3,433.0 m2

A8k = 3,433.0 m2

RARMALSy BB IR (EIEBRARE A L D)
« SRR 10, 954 m X 25 m=270m
- HIE 270m X 60% X 0. 9150
W& Gy bt &[RRI 150t
- RARBA B 10, 9541 X 0. 05X 0. 6 X 0. 8 X 3. 52900t
IS/\]FE H:;@ AN (] . B_‘) (] 504+0004) /9006-<X 5573 = t
FRARES A3 (2 T1X) (150t+900t) /9006 X 3433 = 400.2 t
I B (T . _ "
HHUSE (2T X) 15011,/9006 X 3433 = 57.2 m




